
Time: 10 Minutes Paper Math 4 (T-1) Total Marks: 10

1st Month, 4th Week, 3rd  Day Unit # 1

Q.No.1. Choose the correct option: (1 x 3 = 3) 
i) Zaid has Rs. 3 420. He wants to distribute among them 18 needy people.
How much money will each person get?

 18  3 420 
(a) Rs.190  190 (b) Rs.180  180 (c) Rs.195  195 (d) Rs.200  200

ii) Aslam earns Rs. 1 200 in a day. How much money will he earn in one

month?  1 200 
(a) Rs. 37 500  37 500 (b) Rs. 36 500  36 500

(c) Rs. 36 000  36 000 (d) Rs. 30 000  30 000

iii) 4 235 blocks are to be packed in 35 boxes. How many blocks are there in
each box?  35   4 235

(a) 117 (b) 119 (c) 120 (d) 121

Q.No.2. A car covers a distance of 1 288 km in 23 hours. How much distance
would it cover in one hour? (1 x 2 = 2)

 1 288  23 
_________________________________________________________________

_________________________________________________________________
Q.No.3. Sa'ad has 1 161 books. He arranges these book in 43 shelves. How
many books will place in every shelf ? (1 x 2 = 2)






 43  1 161 

_________________________________________________________________

_________________________________________________________________

_________________________________________________________________
Q.No.4. A man pays Rs. 23 452 as one month installment of the car. Find how
much amount will he pay in 2 years? (1 x 3 = 3)

 2  23 452 
_________________________________________________________________

_________________________________________________________________

_________________________________________________________________
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